Pictorial guide for
Tub Shower Room

S-1630 Front frame
Installation

This is a picture guide to go along with the video
Instruction




In this presentation
you will learn how
to Install the S-1630

Front Frame

« Components 3-6

« Stile and Panel Characters 7-12

» Bottom Track to Stile Installation 13-18

« Bottom Track to Middle Stile Installation 19-33
» Top Track to Stile Installation Page 34-38

« Top Track to Middle Stile Installation 39-48

» Second Panel Installation 49- 61

» Assembled Front Frame Page 52

Please call 317-802-9363 (Toll-free 1-877-358-7458 if
you have any questions. Thank you for purchasing our
product, and good luck!



-~ anvil W






pring loaded rollers are for
; om track




L2 2 R L T

\

4

se scre
to adjust
Joor’s height



ithat connects to froREt wall

- These cutouts are for frack
Reminder: Top track is wider th(mbottom.':-» —
Therefore, the cutouts are wider for the top track






SSUSe rubber mallet to rNgE@Sstiles
& 10 flush the stiles and g[SEHe]




The top end of the middle stile




Front flat’panel is not a part of this
front frame installation guide






he other end of the track
as straight angles




A W' 1 CT \
Yhe bottom trac

g

) B
/ ' ’

et 7/8 » screw g
this pre-drilled hole on sttle



et theNeren
crew hole in the track




rns
place

47

Repeat the same for
the second screw



to tighten alternatively




re the connection is




& ). -
T S




& ). -
T S




Topview of the clamp
location




Use 1/16” drill bit to




metal screw










at second screw poi




ow offsecond screw point



() le
(N st
-







Inly two 1/4”

screwslitsed

¢



onnecits to front flat panel



Use 1/16”
.drill bit for
a pilot hole
on Ist layer
- - ofstile




~

\

f 1/4”° screw

iew o

Sidev



We will use these 7/8” long

stainless steel screys next

e A 3




Attach top track to stile



Set 7/8” long iron scréws in place




Set both screws in place



Tighten both screws alternativelty



TR
drill a pilot hole on stile



Use 7/8” stainless steel scew to attach



BRI




middle stile







ht nex

IS ri

f the clam

Clamp
ew o

lopy


















s

e second panel =
) stliles and panel ticht




mallet g
W olass panel

Sty

"

Jlush






Track (top) aligned up with panel
/: -















Just a review th it bottom
jmck uses 3/8 ” long screw

Because the screwis
countersunk



hs7 deview of 3/8 screw on
hand middle stile




Top track uses 7/8” long stainless
steel screws










